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Number, Addition & Subtraction

Holy Trinity
Comparison of quantities and measures
The ___ is heavier than the . Language A o .
The ___is lighter than the . o j |
| € 4‘
[ | 9 - 1
N
G< - ,;Lf )
The elephant is heavier than the mouse.
The mouse is lighter than the elephant.
The ___ is the same length as the ___ . | Language -
The ___ is the same length as the ___ . SE—
The pen is the same length as the pencil.
The pencil is the same length as the pen.
There are more ___ than ___. Language 2 %
There are fewer __ than . Y\ /% "
2 /L)' There are more people than
A NN hats.
I\ J’\

There are fewer hats than
people.

Wholes and parts

This is a whole ____ because | have all Language/

of it. Structure This is a whole apple because | have all
of it.

This is not a whole ____ because | don’t | Language/

have all of it. Structure

This is not a whole ___ because | only | Language/

have part of it. Structure

This is not a whole carrot because | don’t have all of it.
This is not a whole carrot because | only have part of it.

A whole can be split into two parts in | Generalisation
lots of different ways.

A whole is always bigger than a part of| Generalisation
the whole.

A part is always smaller than its whole. | Generalisation H #

A whole can be split into more than Generalisation
two parts in lots of different ways.
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This is a whole group of because Structure This is a whole group of cakes because
none are missing; | have all of them. none are missing; | have all of them.
This is not a whole group of Structure This is not a whole group of cakes
because we don’t have all of them; because we don’t have all of them; some
some of them are missing. of them are missing.
This is not a whole group of Structure This is not a whole group of cakes
because only part of the has because only part of the tray has cakes
in. in.
ThIS is the Wh0|e group Of . I ha.ve Language/ Charlotte’s group of
all of them. Structure six cars:
This is the whole group of
Charlotte’s cars. | have all of
them.
There are in the whole group. | Structure There are four pencils in the
There are in this part of the whole group. There are three
group. \ pencils in this part of the
group
is the whole; is a part and Structure 3 is the whole;
is a part.

| isa partand 2 is a part.

A whole split into equal parts can be
seen as both an additive and a
multiplicative structure.

A whole split into unequal parts can be
seen as an additive structure.

Generalisation

The whole minus the known part(s) is
equal to the missing part.

The sum of the known part(s) plus the
missing part is equal to the whole

Generalisation

360 g

? 125¢g 55¢g

Com

position of numbers inc. place value

The represents all the counters. Structure ‘ . . . .
The represents the counters.
The represents the counters.

The five represents all the counters.
The three represents the blue counters.
The two represents the red counters.
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The whole is and one part is so
the other part must be .

Structure

The whole is five and one part is two so the other part
must be three.

The number before a given number is
one less.

The number after a given number is
one more.

Generalisation

Adding one gives one more.

Generalisation

Generalisation

oo BB

1 2

Subtracting one gives one less. oNE:  “Hive thiee fous five
is five and more. Structure E g E E g
Six is five and one more.
is equal to ten plus . Structure
Twelve is equal to ten plus two.
This is ten ones. It is also one ten Structure
ones are equal to ten. Structure
We have group(s) of ten.
We have ___ ten(s). Ten ones ae equal to one ten.
We have one group of ten.
We have one ten.
This is the number . Structure 10s 1s
The represents tens.
1 0
This is the number ten.
The | represents one ten.
There are tens which is and Structure
ones which is . This makes
altogether.
The represents tens. It hasa
value of .
The represents ones. Ithasa
value of .

There are two tens which is twenty and three ones which
is three. This makes twenty-three altogether: 23.

The 2’ represents two tens. It has a value of twenty.
The ‘3’ represents three ones. It has a value of three.
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All multiples of ten end with a zero.

Generalisation

Digits What it
means
10 1ten
20 2tens
30 3tens
40 4 tens
50 5tens
We have tens. We call this . | Language/ - t
structure S |X y
SiX ~ens
This is the number . We write the | Structure forty-two
then the .
fourtens two ones
42
This is the number forty-two. We write the four then the
two.
This is . Ten more than is Structure
is ten more than .
This is . Ten less than is
is ten less than .
This is thirty. Ten more
than thirty is forty.
Forty is ten more than thirty.
This is forty. Ten less than forty is thirty.
Thirty is ten less than forty.
| know that plus is equal to Structure
So, tens plus tens is equal to ” ””,
—tens. 2tens  + 5tens = |7 tens
| know that 2 plus 5 is equal to 7.
So, 2 tens plus 5 tens is equal to 7 tens.
| know that minus is equal to | Structure
So, tens minus tens is equal to
tens.

5tens

2tens 3tens

l
| know that 5 minus 2 is equal to 3.
So, 5 tens minus 2 tens is equal to 3 tens.
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| know that plus is equal to Structure 10
ten so plus is equal to . b
r )
-OOOOOC-0000C-
6 4
20
/ e S
—OCOOCOCOO00000e- 0000
N S A W
16 4
| know that 6 plus 4 is equal to 10 so |6 plus 4 is equal to
20.
| know that minus is equal to | Structure
ten so minus is equal to .

20
.
8 kA
R Sl 7
17

| know that 10 minus 3 is equal to 7 so 20 minus 3 is
equal to 17.

To compare two digit numbers, we
need to compare the tens digits; if the
tens digits are the same, we need to
compare the ones digits.

Generalisation
structure

To compare three digit numbers, we
need to compare the hundreds digit; if
the hundreds digits are the same, we
need to compare the tens digits; if the

Generalisation
structure

tens digits are the same, we need to
compare the ones digits.

To compare two numbers, we
compare digits with the same place
value, starting with the largest place
value digit.

Generalisation
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When we find ten more, the tens digit | Generalisation
changes and the ones digit stays the
same.
When we find ten less, the tens digit
changes and the ones digit stays the
same.
We had tens and ones. Ten | Structure BEE S HH
more gives us tens and ones. HEH i)
32 42
We had tens and ones. Ten | Structure BEE S HH
less gives us tens and ones. HEE 10less HH
32 22
One part is ten, the other part is Structure ()
and the whole is . ) ()
One part is ten, the other part is 36 and the whole is 46.
There are one hundred ones in one Structure
hundred.
There are ten tens in one hundred. Structure , , , , ,
One hundred is divided into equal | Structure 100
parts so each part/ division has a value 1511,
of . S -
One hundred is divided into four equal parts so each part
has a value of 25.
plus is equal to so Structure 10 10tens
tens plus tens is equal to I LTI ET
tens. 7 plus 3 is equal to 10 so 7 tens plus 3 tens is equal to 10
plus is equal to 100. tens. 70 plus 30 is equal to 100.
Ten minus is equal to . So ten | Structure 10 10tens
tens minus tens is equal to I E T
tens. 100 minus ___isequalto ____ |0 minus 3 is equal to 7. So 10 tens minus 3 tens is equal
to 7 tens. 100 minus 30 is 70.
There are groups of ten. There is | Structure ( '
group of 100 and more tens. ; ; : : $ : $
There are altogether. \ ,
There are 14 groups of ten. There is one group of 100
and 4 more tens. There are 140 altogether.
| know that plus is equal to| Structure | know that seven plus five is equal to twelve.
. (single digit addends) So seven tens plus five tens is equal to twelve tens.
70 plus 50 is equal to 120.
So tens plus tens is equal to
tens. (multiple-of-ten addends)
plus is equal to one hundred
and . (number names)
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| know that __ minus ____ is equal to | Structure I\
__ . (bridging ten) ' ‘ %10 | 10
So___ tens minus ___ tens is equal to
___tens. (bridging ten tens) One - .
hundred and ____ minus __is 4
equal to . (number names) :
| know that twelve minus five is equal to seven.
So twelve tens minus five tens is equal to seven tens.
120 minus 50 is equal to 70.
Thereis ___ group of 100 and ___ Structure PRSI NE I

more. There are

There is | group of 100 and 24 more. There are one
hundred and twenty-four.

____is___ ones. Structure 243 is 243 ones.

___is___ _hundredsand ___ ones. 243 is 2 hundreds and 43 ones.
___is___ tensand ___ ones. 243 is 24 tens and 3 ones.
__is___ hundreds, ___ tensand 243 is 2 hundreds, 4 tens and 3 ones.
___ ones.

There are ten hundreds in one Structure

thousand. 7 .
There are one hundred tens in one H
thousand. i |

There are one thousand ones in one o B o
thousand. Thousands Hundreds  Tens Ones
____hundred plus ____ hundred is equal | Structure

to __ hundred. ° @

We know there are ten hundreds in

one thousand, so ____ hundred plus ° ‘ ° @ , @ @ @

Six hundred plus five

- :undred 's equal to __ thousand hundred is equal to eleven hundred. We know there are
undred. . .

— ten hundreds in one thousand, so six hundred plus five

hundred is equal to one thousand one hundred.

We know there are ten hundreds in We know there are ten hundreds in one thousand, so

one thousand, so __ thousand one thousand one hundred is equal to eleven hundred.

hundred is equal to ____ hundred. eleven hundred minus six hundred is equal to five

____hundred minus ____ hundred is hundred.

equal to ___ hundred.

There are ten one thousands in
tenthousand.

There are one hundred one hundreds in
ten-thousand.

There are one thousand tens in
tenthousand.

There are ten thousand ones in
tenthousand.

Additive structures: aggregation and partitioning
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There are and Structure
We can write this as plus \ \ \
The represents the \ \
The represents the
There are four open umbrellas and five closed umbrellas.
We can write this as four plus five.
The four represents the four open umbrellas.
The five represents the five closed umbrellas.
is equal to plus Structure (5)
plus is equal to
and are the addends. & @)
is the sum. ;
4 l 1
Five is equal to four plus one.
Four plus one is equal to five.
Four and one are the addends.
Five is the sum.
Addend plus addend equals sum. Sum | Language

equals addend plus addend.

Additive structures: augmentation and reduction

First... then... now...

See:
ncetm_mm_spl_yl_se06_teach.pdf for
lots more examples of how to use
first... then... now’ in the context of
augmentation and reduction.

Language

First Then Now

ieigl®ic) lelglele] ielgl®l ol
ofy

First, four children were sitting on the bus.
Then three more children got on the bus.

Now seven
First Now children are
g sitting on the
bus.

First, there were four children in the car.
Then one child got out.
Now there are three children in the car.

Odd and even numbers




Stem Sentences

Number, Addition & Subtraction

it

Holy Trinity

_____is made of pairs; it is an even
number.

____is not made of pairs; it is an odd
number.

Structure/
Language

6 is made of pairs; it is an even number.
7 is not made of pairs; it is an odd number.

Numbers that can be made out of
groups of two are even numbers.
Numbers that cannot be made out of
groups of two are odd numbers.

Generalisation

Even numbers can be partitioned into
two odd parts or two even parts.

Generalisation

Odd numbers can be partitioned into
one odd part and one even part.

Generalisation

If the whole is odd and one part is
even, the other part must be odd. If
the whole is odd and one part is odd,
the other part must be even. If the
whole is even and one part is even,
the other part must be even. If the
whole is even and one part is odd, the
other part must be odd.

Generalisation

Adding two to an odd number gives
the next odd number.

Adding two to an even number gives the
next even number.

Subtracting two from an odd number
gives the previous odd number.
Subtracting two from an even number
gives the previous even number.

Generalisation

! o
® | 2 00
e)e) o0
®® e
e L
o0 2. 00
e Ldl )
00 ®®

Consecutive odd numbers have a
difference of two.
Consecutive even numbers

difference of two.

have a

Generalisation
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Doubling a whole number always gives | Generalisation
an even number

We know the number ___is odd Generalisation
because the ones digit is odd. We
know the number ___ is even
because the ones digit is even.

A number is odd if the ones digit is Generalisation
odd. It can’t be made from groups of
two.

A number is even if the ones digit is
even. It can be made from groups of

two.
Rounding
____isbetween ___ and Structure/ 43 is between 40 and 50.
is the previous multlple of ten/| language 40 is the previous multiple of ten.
hundred/ thousand. 50 is the next multiple of ten.
is the next multiple of ten/ hundred/
thousand.
‘a’ is between and ___ . The Structure
previous muItlpIe of one ten/ L .
hundred/ thousandis ___. The 1000 1000
next multiple of one ten/ hundred/ {1,000)<1:321<(2,000]
‘th’c'ousand 1S — 1321 is between 1000 and 2000.
a’ is nearest to ___ ten/ hundred/ .
The previous multiple of one thousand is 1000. The next
thousand. ; :
oo multiple of one thousand is 2000.
a’is __ when rounded to the nearest

321 is nearest to 1000.

ten/ hundred/ thousand. 1321 is 1000 when rounded to the nearest thousand.

____is between and Structure 3.4 is between 3 and 4.

____is the previous ous whole number 3 is the previous whole number.
____is the next whole number. 4 is the next whole number.
__ isnearestto__ . 3.4 is nearest to 3.
__rounded to the nearest whole 3.4 rounded to the nearest whole number is 3.
numberis
When rounding to the nearest ___, if | Generalisation | When rounding to the nearest thousand, if the hundreds
the __ digitis 4 or less we round digit is 4 or less we round down. If the hundreds digit is
down. Ifthe __ digitis 5 or more, we 5 or more, we round up.
round up.
The midpoint between/ of __and | Structure : ? : i The midpoint
is __, so the midpoint between/ of s b % b 4 - e » w = w between ten
____thousandand ____ thousand is 2 3 : F and twenty is

[T fifteen, so the
— o o, 2, N 4 0 @ 0w 0w  w
e e

between ten-thousand and twenty-thousand is fifteen
thousand.
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is greater/ less than so
thousand is greater/ less than
thousand.

Structure 54 < 58
54000 < 58000

thousand.

58 is greater than 54, so 58 thousand is greater than 54

Negative numbers

Negative numbers are below/ less than
zero.

Positive numbers are above/ greater
than zero.

Generalisation

Negative numbers are to the left of
zero.
Positive numbers are to the right of
zero.

Generalisation

left of zero right of zero

LR Rl LT} T T T T T T
-5 -4 3 -2 -1 0 1 2 3 4 5

negative numbers positive numbers

Zero is neither negative nor positive

Generalisation

For both positive and negative
numbers, the larger the value of the
number, the further away it is from
zero.

Generalisation | — ~,

T T T T T T T T
5 4 3 -2 -1 0 1 2 3 4 5

For negative temperatures, the further
away from zero it is, the colder the
temperature.

For positive temperatures, the further
away from zero it is, the warmer the
temperature. (Can be adapted to
other contexts)

Generalisation

The difference between two numbers
is always a positive number, regardless
of whether the numbers are negative
or positive.

Generalisation

If we add a positive number, the
number gets higher/ greater.

If we subtract a positive number, the
number gets lower/ smaller. If we
add a negative number, the number
gets smaller/ lower.

If we subtract a negative number, the
number gets higher/ greater.

Generalisation

Add something positive (like chocolate!)
=~ Mood goes UP!

Take away something positive (like a break time)
+s) Mood goes down.

Add something negative (like a telling off)
Mood goes down

Mood goes UP!

Take away something negative (like the rain going away)

Addition and subtraction strategies

If we change the order of the addends,
the sum remains the same. We can
change the order of the addends and
the sum remains the same.

Structure

Adding one gives one more.

Generalisation

Subtracting one gives one less.

Generalisation

Consecutive numbers have a difference
of one.

Generalisation
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When zero is added to a number, the
number remains unchanged.

Generalisation

Holy Trinity
First Then Now
icleiel N Hcieiel B Hcigliel |
[@1A @A [A
o ol ©° oI O ol
6 +0 6

6+0=6

When zero is subtracted from a
number, the number remains
unchanged.

Generalisation

First Then Now

Subtracting a number from itself gives a
difference of zero.

Generalisation

There are , and
Altogether there are .

Language

There are two red marbles, three blue marbles and five
yellow marbles. Altogether, there are ten marbles.

When we add three numbers, the total
will be the same whichever pair we add
first.

Generalisation

We can look for pairs of addends
which sum to ten.

Generalisation

@) o @0 @ |@e
oo |@® [0 e
o o @ |—(0 |ee
X le e ] [0 ee
s

plus is equal to ten, then ten | Structure 7+3+4

plus is equal to . Seven plus three is equal to ten, then ten plus four is equal
to fourteen.

First | partition the plus Structure £ N

is equal to . i g

Then plus is equal to ten...

...and ten plus is equal to . 7+3=10
10+2=12
First | partition the five: three plus 2 is equal to
five. Then seven plus three is equal to ten... ... and
ten plus two is equal to twelve.

There are more than . Structure o Gn S G5 ﬂ‘

There are fewer than .

5 655 655

2cars

There are two more red cars than blue cars.
There are two fewer blue cars than red cars.
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The difference between the number of| Structure ﬁﬁﬂﬁa‘

____and the numberof ___is B 65 6
2 cars
The difference between the number of blue cars and the
number of red cars is two.
The more we subtract, the less we are| Generalisation ®@ ®@
left with. - -
The less we subtract, the more we are 7 ®||
left with. | @\
10-4<10-3
The ___ represents the number of Structure = o) ’ 0 . a ’ @
. The ___ represents the number . S G B
of . The ___ represents the ///
difference between the number of
and the number of l ¢ I
-
5
The 8 represents the number of children. The 3
represents the number of pencils. The 5 represents the
difference between the number of children and the
number of pencils.
Subtraction is not commutative Generalisation | 6 — 3 is not equal to 3 — 6.
To subtract ___, we can subtract the Structure 45

~ 93
/\
20 3

then subtract the .

To subtract 23. We can subtract the 20 then subtract the
3.

For a subtraction calculation where Generalisation
both numbers have the same ones

digit, the difference is a multiple of ten.

Firstwe add: __ plus ___ is equal to e
7 S

... then we adjust: minus is / 3
equal to . ‘x

52 8182

52429 =52+30-1
=82-1
=81

First we add: 52 plus 30 is equal to 82
... then we adjust: 82 minus | is 8.

For calculations that involve both Generalisation
additions and subtraction steps, we can
add then subtract, or subtract then
add; the final answer is the same.

The value of the expressions on each Generalisation =
side of the equals sign must be equal. . .
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If one addend is increased by an
amount and the other addend is
decreased by the same amount, the
sum remains the same.

Generalisation

520 + 290 = D

+ o - [

(connected with above) | have added
____to this addend so | must subtract
____from the other addend to keep
the sum the same.

Structure

| have added ten to 520 so | must subtract ten from 290
to keep the sum the same.

If one addend is increased/ decreased
by an amount and the other addend
remains unchanged, the sum is also
increased/ decreased by the same
amount.

Generalisation

14 + 3 = 17

(connected with above) I've added/
subtracted _ to/ from this addend
and kept the other addend the same
so | must add/ subtract ____ to/ from
the sum.

Structure

| have added ten to 4 and kept the other addend the same
so | must add ten to 7 also.

If the sum increases/ decreases by an
amount and one addend has stayed the
same, the other addend must increase/
decrease by the same amount.

Generalisation

(connected with above) The sum has
increased/ decreased by ___; one
addend has stayed the same, so the
other addend must increase/ decrease

by .

Structure

The sum has increased by 2; one addend has stayed the
same, so the other addend must also increase by 2.

If the minuend and the subtrahend are
changed by the same amount, the
difference remains the same.

Generalisation

I 1
0723/15(:78910743

I 1
012345¢6 7 8910 6°3=3

I 1
0123456782910 °>2=3

I've added/ subtracted ____ to/ from
the minuend and the subtrahend so the
difference remains the same.

Structure

I’'ve subtracted | from the minuend and the subtrahend so
the difference remains the same.
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In a balanced equation, If | add an Generalisation
amount to the minuend or subtrahend,
| need to add the same amount to the
subtrahend or minuend to keep the — - &[]
difference the same.

In a balanced equation, if | subtract an
amount from the minuend or
subtrahend, | need to subtract the
same amount from the subtrahend or
minuend to keep the difference the 0o- 3 = 45 - D
same.

I've added ___ to the minuend/ Structure I’'ve added 35 to the minuend so | need to add 35 to the
subtrahend, so Il needtoadd ___ to subtrahend to keep the difference the same.

the subtrahend/ minuend to keep the
difference the same.

I've subtracted __ from the minuend/
subtrahend so | need to subtract
from the subtrahend/ minuend to keep
the difference the same.

If a certain amount is added to the Generalisation 9. = & 2
minuend and the subtrahend is kept the
same, the difference must be increased

by the same amount.
20 - 3 = 17

I've added ___ to the minuend and Structure I've added ten to the minuend and kept the subtrahend
kept the subtrahend the same, so | the same, so | have to add ten to the difference.
have to add ___ to the difference.

If the minuend is changed by an amount | Generalisation 00 - 2 = 98
and the subtrahend is kept the same,
the difference changes by the same

amount.
% - 2 = 88

I’ve subtracted from the minuend | Structure I’ve subtracted ten from the minuend and kept the
and kept the subtrahend the same, so | subtrahend the same, so | must subtract ten from the
must subtract from the difference. difference.

If the minuend is kept the same and the | Generalisation
subtrahend is increased/ decreased by
an amount, the difference must
decrease/ increase by the same
amount. 98 - 30 = 68

98 - 20 = 78

I've kept the minuend the same and Structure I've kept the minuend the same and added ten to the
added/ subtracted to/ from the subtrahend so | must subtract ten from the difference.

subtrahend so | must subtract/ add
to/ from the difference.

Written algorithms for addition and subtraction
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For Dienes:

We line up the ones; ____ one(s) plus
____one(s).

We lineup thetens; ___ ten(s) plus___
ten(s).

For the column addition calculation:
The ___ is in the ones column- it
represents ____one(s);the ___ isin
the ones column- it represents
one(s). The ___is in the tens column-
it represents ____ ten(s); the ___ isin
the tens column- it represents
ten(s).

Structure

1 @

We line up the ones; three ones plus five ones.
We line up the tens; four tens plus two tens.

The ‘3’ is in the ones column- it represents three ones.
The ‘5’ is in the ones column- it represents five ones.

The ‘4’ is in the tens column- it represents four tens. The
‘2’ is in the tens column- it represents two tens.

In column addition, we start at the
right hand side.

Generalisation

If the column sum is equal to ten or
more, we must regroup.

Generalisation

Decimals

The whole is divided into ten/ a Structure
hundred equal parts and ____ of them ‘r‘ A~ q ’ ’
is/ are shaded; this is ____ tenth(s)/ e S
hundred(s) of the whole. y

The whole is divided into ten equal parts and one of

them is shaded; this is one tenth of the whole.
If a digit is moved one/ two column(s) | Structure/
to the left, the number represented language
becomes ten/ one hundred times ey (T s ”
bigger/ ten/ one hundred times the size. 2]
If a digit is moved one/ two column to 8}
the right, the number represented O
becomes ten/ one hundred times @)
smaller; we can also say it becomes one tentimes tentimes ten times
tenth/ one hundredth the size. Sm_a”,e' Smjle' Sm_alle'

onetenth onetenth onetenth
the size the size the size

One tenth/ hundredth can be written Structure 1000s | 100s | 10s | 15 | 0.s
as 0.1/ 0.0l so ___ tenths/ hundredths ®e
can be writtenas 0. /0.0 . @

L [ [ [o#5s]

One tenth can be written as 0.1 so three tenths can be

written as 0.3.
Isay  point ___ butlthink__ and | Language | say forty-three point six but | think 43 and six tenths.
___ tenth(s). | say five point zero six but | think 5 and six hundredths.
Isay  point___ butlthink

____and ___ hundredths.

Holy Trinity
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__ tenths plus ____ tenths is equal Structure @)@ @@
to ten tenths, which is equal to one. 0| ®) @
One is equal to ten tenths; ten tenths 08 —|@
minus ___ tenths is equal to ____ f",—;}i -
0.)| B 0.1
tenths. o w o
Four tenths plus six tenths is equal to ten tenths, which is
equal to one.
One is equal to ten tenths; ten tenths minus four tenths
is equal to six tenths.
__ hundredths plus ___ hundredths | Structure @) G0y %) @) 6o
is equal to ten hundredths, which is ® @ @ ®
equal to one tenth. Ll - @ - 900
One tenth is equal to ten hundredth; ® ® 90
ten hundredths minus ____ hundredths @z% o @m@
is equal to ____ hundredths.

Four hundredths plus six hundredths is equal to ten
hundredths, which is equal to one tenth.

One tenth is equal to ten hundredth; ten hundredth minus

four hundredths is equal to six hundredths.

When one tenth is divided into ten
equal parts, each part is one
hundredths of the whole; ten
hundredths is equal to one tenth.

Generalisation

Ten hundredths is equal to one tenth.
Ten tenths is equal to one.

One tenth is equal to ten hundredth.
One is equal to ten tenths.

Structure

One centimetre is one hundredth of a
metre, SO we can write one centimetre
as zero-point-zero-one.

Ten centimetres is one tenth of a
metre, SO we can write ten
centimetres as zero-point-one.

Structure

100

Ten groups of ten pence is equal to
one pound, so ten pence is one tenth
of a pound.

One hundred groups of one penny is
equal to one pound, so one penny is
equal to one hundredth of a pound.
Ten groups of one penny is one tenth
of ten pence.

Structure

The number to the left of the decimal
point represents the number of whole
pounds. The number to the right of
the decimal point represents the
number of additional pennies.

Structure

HE)

OO

| £1(or100p) |

Credit: Enigma



